= o
A & 0l & AF 2 E A A
20139 = 20la LB Aot AIY A ~ MAotEEAIE A
AN dot=SAFE A
HE: M4E el
Hel: DiSdsk 22l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Aot A A 37,959,809 16,663,883 21,295,926
2 16,258,000
& 5,210,000
=2 1,952
< 639,500
s 15,850,357
a5 2t 10,559,094 7,057,880 3,501,214
& 5,210,000
< 132,500
fia 5,216,594
o452 2tel 8,949,854 5,651,940 3,297,914
& 5,210,000
= 32,500
[ia 3,707,354
SHENS &=EAE HE=> 1,505,854 1,417,940 87,914
= 32,500
s 1,473,354
201 £B-2dH| 26,094 22,180 3,914
01 At 22l 7,480 6,980 500
Oget==EH| 3,980
— A MD SEH =E72Y
255,000& 4= | 1,020
— &Y MEES 7Y 300,000& =63l 1,800
— &I |z 60,000& x63l 360
—UEH o822 800,000& 800
O= &l 3,500,000& 3,500
02 =224l 18,614 15,200 3,414
O333LAHA 12,304
— &M &= 808,000 »12& 9,696
—EA ALAE BE=+=2  336,000& x13 336
—EAM Hot=EAEEZ 56,0002 128 672
—2EX UHSIHA 30,000& 12 30
— 22X 2EE2 390,000& =13l 390
—ESZHd 23 20,000& »22] 40
— s =4 48,000& x12& 576
—RERYHES 47,0003 x12& 564
OAIE ZHI S X 1,800
— UL (HAAA) ESAYI
1,800,000 * 14! 1,800
O Xt & Bl 4,510
—24EXNY FFU 1,900& *1,9002| & 3,610
— 22X KA 450,000& »23| 900
202 O4dl 23,760 23,760 0
01 = LH 4 Hi 10,800 10,800 0




SH: MBAEAYA
B 44c B
el D2 aAE 2 (sl &2)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
OsEdags 23 4252 10,800,000 10,800
02 M0t 12,960 12,960 0
OF+% 22(6Y) 12,960, 000& 12,960
203 R =&t 2,000 2,000 0
03 AIMFXH R =AY 2,000 2,000 0
OXBt=Z ALY Al =2 2,000,000& 2,000
401 Al HI YL 2 TH Y| 1,454,000 1,370,000 84,000
< 32,500
= 1,421,500
01 A& HI 1,442,616 1,359, 344 83,272
OsSHEDNES &= A4 HE=>
198,560,000 198,560
OZAELYI &X 49,460,000& 49,460
Obts&d=% 293 uA 99, 100, 000& 99,100
Obtsd=E E=XNelAME &X
198,560, 000 198,560
O&EAN B3 A 29,676,000& 29,676
Obtsd=S 222+t 148,920, 000 148,920
OArE SFAE HE* 99, 100, 000& 99,100
OJIE XNot==IHe SotA dSEAESA
23,740,000& 23,740
Oaz a2z S8A 89 99, 100, 000& 99,100
OEHIEXAY 496,400
—OSdsZ(SaAE) X2l 2U2APE
249 496,400,000& 496,400
< 32,500
s 463,900
03 Al 2 0HHI 11,384 10,656 728
OsUHENS &4=EAE HE>
200,000,000% *0.72/100 1,440
OZAEYI &X 50,000, 000& *1.08/100 540
Ontsgad=% 24943 wA
100,000,000% *0.90/100 900
Otlsa+=5 F=HelAld X
200,000,000% *0.72/100 1,440
OFAN E=3At 30,000,000% *1.08/100 324
Obts&=E 282+t
150,000,000& *0.72/100 1,080
0472 S2A4 K24
100,000, 000& *0.90/100 900
OJIE XNot==IHe SItA dSFEASA
4,000,000& *1.08/100 260
OMLEHEZ SHHARY
100,000,000 *0.90/100 900
OEHIEZAY 3,600




2N Aol AIE A
HE: M4E el
Sl DI2ASE 22 CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— IS M+E(SHAE) RN A
=4 500,000,000 x0.72/100 3,600
SEsY MEsE4 Y 1,320,000 1,320,000 0
2 924,000
= 396,000
401 AlEHIZL £ 0HY| 1,320,000 1,320,000 0
2 924,000
= 396,000
01 Al&H| 1,315,248 1,315,248 0
ZAXGLNEL G H AL 1,315,248
—ME=E4 YA 1,315,248,000& 1,315,248
2 924,000
= 391,248
03 AlE 201 4,752 4,752 0
OZAXNALNHNEL G H ALY 4,752
~MEES HLAY
1,320,000, 000 *0.36/100 4,752
AR A HEAIY 600,000 200,000 400,000
2 420,000
= 180,000
401 Al HI L £ 0HHI 600,000 200,000 400,000
2 420,000
o 180,000
01 Al& B 596,220 198, 560 397,660
OEAXNGLANELF HAIS 596,220
— AR =TS AE ALY 596,220,000 596,220
2 420,000
- 176,220
03 Al 20| 3,780 1,440 2,340
OEAEXNGLNELF HAIS 3,780
— AFRD 2T AIE JHSAY
600,000,000 x0.63/100 3,780
SHEMES LIS AS 5,524,000 2,714,000 2,810,000
2 3,866,000
= 1,658,000
401 AlEHIZL 20 HI 5,524,000 2,714,000 2,810,000
2 3,866,000
= 1,658,000
01 Al&H| 5,257,425 2,701,529 2,555,896
OBANGLNELI HAIE 5,257,425
~ Y. 8F SOHEMESENLAY
294,861,000 294,861
2 243,000
= 51,861
— M CR SO EMERANLAY
4,962,564 ,000& 4,962,564

_3_




AN dot=SAFE A
M gag 2l
Hel: DiSdsk 22l (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 3,623,000
s 1,339,564
02 2feldl 251,000 0 251,000
OZFNALHEE 3 HAS 251,000
~UY.BF SHEMHSLILAL
251,000,000 251,000
03 Al 2 0H bl 15,575 12,471 3,104
OZIAXNALHSEBHAS 15,575
~ Y. 8F SOHEMESENLAY
297,000,000& *0.72/100 2,139
— W HD SHEMES LA
4,976,000,000& *0.27/100 13,436
Aga=c 2el 1,609,240 1,405,940 203,300
= 100,000
fia 1,509,240
NgasE 220E 570,000 867,000 A 297,000
401 A& HIZ 201 I 570,000 867,000 A 297,000
01 A& HI 565,824 860,685 A 294,861
ONYHLE LS2T DAY
198,560, 000& 198,560
ONYHLE w2BA BUIYRE
19,784,000& 19,784
OBENSMLC(HA-QZ)HBALLH
347,480,000& 347,480
03 Al 2 THHI 4,176 6,315 AN2,139
ONYH4+E =5LE2 DHAY
200,000,000% *0.72/100 1,440
ONYALE w+TA BHIYAE
20,000,000 *1.08/100 216
OB N LML T (MR )HHAIS LN 8
350,000,000% *0.72/100 2,520
A5td A ¥ E 39,240 38,940 300
201 €82l 3,840 3,540 300
01 At 22l 3,120 2,820 300
o=l 320
—Jls=alg o=t 160,000& »2H 320
O= &l 2,800,000& 2,800
02 =224l 720 720 0
O=323<LHA 720
— &5 g3l 720,000& x 13l 720
202 O4dl 5,400 5,400 0
01 = LH 4 bl 5,400 5,400 0
OAstd 2t g2=2 3,000,000& 3,000




AN dot=SAFE A
HE: M4E el
Sel NYaLE 22 CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNga=t 2AZ0E FFFA 2,400,000 2,400
401 AIEHI L 2CHEI 30,000 30,000 0
01 A& Bl 29,676 29,676 0
OAstd X & E= 29,676,000 29,676
03 Al 2 THHI 324 324 0
Oastd &X € 2= 30,000,000& 1.08/100 324
CEHE2 WA ¥ HMAY 1,000,000 500,000 500,000
< 100,000
= 900,000
401 AIEHI L 2 CHYI 1,000,000 500,000 500,000
< 100,000
[ 900,000
01 A& HI 993,700 496,400 497,300
OZHEXZAY 993,700
—LBACE DAY W HMAY
993,700, 000& 993,700
= 100,000
s 893,700
03 AlE 2 THHI 6,300 3,600 2,700
SHIEX A 6,300
— L& WX L HYEAY
1,000,000, 000% *0.63/100 6,300
3ot 2el 25,019,150 7,985,620 17,033,530
= 16,258,000
< 507,000
e 8,254,150
ot==201 &l 14,763,000 4,407,000 10,356,000
= 10,334,000
e 4,429,000
ZTHES ot=2)1 U A 7,856,000 2,441,000 5,415,000
= 5,499,000
e 2,357,000
401 A& HIZ 201 Y] 7,856,000 2,441,000 5,415,000
= 5,499,000
i 2,357,000
01 A& HI 7,416,360 2,012,212 5,404,148
OZHIEx= At 7,416,360
—ZAHEZ ot==2tH FHIAY
7,416,360,000& 7,416,360
= 5,499,000
s 1,917,360
02 Zeltl 420,000 420,000 0
O=HIEXZ ALY 420,000
—EAES St==2t0 UMY
35,000,000& 12& 420,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 Al S THHI 19,640 8,788 10,852
O=HIEX AL 19,640
—ZAES ot=2tH ZHAY
7,856,000,000%0.25/100 19,640
JHOFOFZ ot =2t EHHIALLY 6,907,000 1,966,000 4,941,000
= 4,835,000
s 2,072,000
401 AIEHI L 2 CHYI 6,907,000 1,966,000 4,941,000
= 4,835,000
s 2,072,000
01 A& HI 6,469,732 1,538,814 4,930,918
O=HIEZ ALY 6,469,732
— JIOFOF2 ot==2t FHIAY
6,469,732,000& 6,469,732
= 4,835,000
i 1,634,732
02 2feldl 420,000 420,000 0
OZHIEx= A 420,000
— JtOFOF2 Gt=2tH ZHIAY
35,000,000 x12& 420,000
03 Al 20 HI 17,268 7,186 10,082
O=HIEXZ ALY 17,268
— JIOFOF2 ot==2t0 FHIAY
6,907,000,000& *0.25/100 17,268
230t A4 Hb| 10,256,150 3,578,620 6,677,530
= 5,924,000
S 507,000
s 3,825,150
SANHE RS St=% &bl 594,150 507,620 86,530
201 L2yl 9,830 3,300 6.530
01 At 22/l 2,440 1,700 740
Oget=gH| 200
—HMARE Y 200,000& =13l 200
O=&Hl 2,240,000& 2,240
02 =224l 7,390 1,600 5,790
O=323<LHA 2,690
—ot=& 3l 1,600,000& *13] 1,600
— 28X IS IAl 50,000& *13] 50
— 22X BEEE2 1,000,000& *13] 1,000
—EI3MNERE=S 20,000& »23] 40
O Xt& & BHh| 4,700
-2 *F0UH 1,900& x2,0002| & 3,800
—2EXE KA 450,000& »23| 900




AN dot=SAFE A
Ny ZRolAT B2
B@el: B30t AIE FEHI (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 4,320 4,320 0
01 = LH o4 1l 4,320 4,320 0
Odt=% FHl2aE 2= 4,320,000 4,320
401 AIEHI L 20 550,000 500,000 50,000
01 A& HI 545,860 496,040 49,820
OEAHERSY ot FHI 148,920,000 148,920
OZANAHE ALY Sl =4 148,920,000 148,920
S3ote Ml RS AR 24
9,100,000 99,100
OZ3ot=EHdel23U 2. 221 FH|
148,920,000 148,920
03 A2 S THHI 4,140 3,960 180
OZAAHEZRAL S5 HHI
150,000, 000& *0.72/100 1,080
OZANAHE ALY St &4
150,000,000& *0.72/100 1,080
OZ3ot=EHMel 2l ALRA 24
100,000,000 *0.90/100 900
OZ23ot=EHdel722U 2. 221 FH|
150,000, 000& *0.72/100 1,080
405 THobF S| 30,000 0 30,000
01 AL EFSFHSHI 30,000 0 30,000
Odot=T A4 22 Y
30,000,000 *1CH 30,000
SHE0ISot+=S ZHIALY 3,941,000 2,199,000 1,742,000
= 2,759,000
< 236,000
e 946,000
401 Al HIZ 2018 3,941,000 2,199,000 1,742,000
= 2,759,000
= 236,000
e 946,000
01 A& HI 3,605,211 1,705,792 1,899,419
O=HIEX ALY 3,605,211
— g A0S ot &X
2,466,706,000& 2,466,706
= 1,846,000
< 158,000
[ia 462,706
— QYOS ot+=& &X 1,138,505, 000& 1,138,505
= 913,000
= 78,000
i 147,505
02 2feldl 321,600 482,400 A 160,800
O3HIEXZ ALY 321,600




AN dot=SAFE A
Ny ZRolAT B2
B@el: B30t AIE FEHI (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-3 0= o= &X
13,400,000& = 1200 & 160,800
— QA0S ot=& &X
13,400,000& = 1200 & 160,800
03 A& S THHI 14,189 10,808 3,381
O=HIEXZ AL 14,189
— 8 0= ot &X
2,637,000,000& *0.36/100 9,494
— QA0S st=E & X
1,304,000,000& *0.36/100 4,695
He SOE0ISot4E FHIAY 2,083,000 286,000 1,797,000
=2 1,458,000
= 125,000
s 500,000
401 AIEHI L 2 CHYI 2,083,000 286,000 1,797,000
= 1,458,000
< 125,000
[ia 500,000
01 A& Bl 1,914,701 123,140 1,791,561
OZ3HIE= A 1,914,701
— &4 0tsdt=% &X 1,914,701,000& 1,914,701
= 1,458,000
< 125,000
s 331,701
02 Zeltl 160,800 160,800 0
O=HIEXZ ALY 160,800
— &4 0tsdt=< &X 13,400,000& =128 160,800
03 Al S THHI 7,499 2,060 5,439
O=HIEXZ AL 7,499
— &4 0tsdt=% &X
2,083,000,000& *0.36/100 7,499
A sHENMSO=S EHALS 1,724,000 286,000 1,438,000
= 1,207,000
< 103,000
i 414,000
401 Al 2 HIL 2 TH Y] 1,724,000 286,000 1,438,000
=2 1,207,000
< 103,000
s 414,000
01 A& HI 1,556,993 123,140 1,433,853
OZHIEx= At 1,556,993
— AN OSot= &X 1,556,993, 000& 1,556,993
= 1,207,000
= 103,000
s 246,993
02 Zeltl 160,800 160,800 0




AN dot=SAFE A
Ny ZRolAT B2
Sl BIoALTAIE FH CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=HIEXAY 160,800
—NM OSot=S X 13,400,000& =128 160,800
03 Al S THHI 6,207 2,060 4,147
O=HIEX ALY 6,207
— W SO 4E 23
1,724,000,000& *0.36/100 6,207
e sHE0Sot=T FHIAMZ 714,000 0 714,000
= 500,000
< 43,000
s 171,000
401 AIEHI L 20 714,000 0 714,000
= 500,000
< 43,000
[ia 171,000
01 A& bl 548,701 0 548,701
O=HIEXZ ALY 548,701
— Y Ootsdt= &X 548,701,000 548,701
= 500,000
< 43,000
s 5,701
02 2eltl 160,800 0 160,800
O=HIEZ AL 160,800
— Y Otsdt=< &X 13,400,000& =128 160,800
03 Al S HHI 4,499 0 4,499
O=3HIEx ALY 4,499
— e otsdt=S & X
714,000, 000& *0.63/100 4,499
BERESHAANE 2HAADAYA 2= 1,200,000 0 1,200,000
401 AIEHI L 201 1,200,000 0 1,200,000
01 A& Hl 1,191,360 0 1,191,360
OJI0F.OF2 =Z3AZAMA F=AY
397,120,000& 397,120
O=H.BHE =Z2J3ALZAMAA F=AE
397,120,000 397,120
Ot =ZJAAZAMAH 2SAL
397,120,000 397,120
03 Al 2 0HHI 8,640 0 8,640
OJI0F.OF2 =Z3AAZAMA A=A
400,000,000& *0.72/100 2,880
O=H . BHE =Z23ALZAMAA F=AE
400,000, 000& *0.72/100 2,880
Ot =ZJAAZAMAH 2SAL
400,000,000& *0.72/100 2,880
BHSAAY (Mot TAIH L) 20,740 20,740 0




2N Aol AIE A
M HYHAAH| (MGt EAIEA)
ch: JI24dd| (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
JlE&dl 20,740 20,740 0
Jl2 &4l 20,740 20,740 0
201 B9 8,140 8,140 0
01 AP 22| H| 8,140 8,140 0
Ogbt4=24| 8,140,000 8,140
202 044 8,400 8,400 0
01 2L HI 8,400 8,400 0
SBA2YG(AIZ, HOL, 35 &4 E)
8,400,000 8,400
203 € R =& 4,200 4,200 0
04 EASHEHIRFAH| 4,200 4,200 0
OFRMSI YR 4,200,000& 4,200
HEE S (AT AT A) 2,360,825 1,599,643 761,182
= 1,952
= 2,358,873
HEAHH XK= 2,360,825 1,599,643 761,182
= 1,952
= 2,358,873
JIEtSHE =2 2,360,825 1,599,643 761,182
= 1,952
= 2,358,873
701 J|EIS| HE =2 2,360,825 1,599,643 761,182
=2 1,952
o 2,358,873
01 JIEtSI HE &= 2,360,825 1,599,643 761,182
OM=ZAIEELEIH 852 1,566,268,000& 1,566,268
ONYALTANLINY AN HES
179,200,000 179,200
OXNgaLT A OlXaE BE2
43,441,000 43,441
= 1,952
= 41,489
OFZNLEEIH HNE2 571,916,000< 571,916




